Time Allowed :2.10 Hours

nswers to any SIX (6) questions: (2x6=12)

B 29
i) IfB= 1 J then hndB+| 1{u) Define square matrix with example,

=3

: 395
(ili) Give a rational number between 7 and g

 standard form a + bi

(iv) Express )

(v) Define scientific notation. (vi) Find the value of 'x"if logy, 9 =
(vii) What is the rational expression, (viii) Simplify ‘g—\/— (ix) Factorize 144a® + 24a + |
03. Write short answers to any SIX (6) questions: (2x6=12)

(i) Find H.C.F of the following expression 39xy'z and 91x°y®z7
(ii) Solve the equation, Ydx+3= {/x =,
(iii) Solve |2x + 3| = [

(iv) Find the value of mand ¢ of 2x - y = 7 by expressing it in the form of'y <mx#¢

(v) Define origin, (vi) Find the distance betweeen the points A(-8, 1), B(6, 1)
(vii) Define scalene triangle, (viii) State’S. A\S Postulate.  (ix) Define rectangle?
04. Write short answers to.any SIX (6) questions: (2x6=12)

(i) Define Bisegtion of anangle.
(ii) « Explainwhether the given lengths can be the lengths of sides of a triangle. 3em, 4cm, Sem

(1if): Define similar Triangles. (iv) Differentiate between Ratio and Proportion.

(v) State converse of Pythagoras theorem.

(vi) Verify that triangle having the following measures of sides is right-angled. a=16¢m,b=30¢m.c= 34em
(vii) Define Triangular Region, (viii) Construct a AABC mAB = 4.8¢m mBC = 3,7cm mZB = 60°

(ix) Define the centroid of the triangle,

PART - II
Note: Attempt any three questions. Question number 9 is compulsory. (8x3=24)
05. (a) Solve by using matrix inversion method. 4x-2y =8 ,3x +y=-4 4
I' | ﬂ||| dil
(b) Slmplllyt J( - )(ﬂ...;] 4

06. (a) Find value by using Logarithm 0.8176 x 13.64

() 1fm+n+p="10andmn+ np+ mp = 27 find the value of m? + n? + p?
07. (a) IF(x+ 2)is afactor of 3x? - dkx - 4k% then find the value(s) of k

(b) Use division method to find the square root x* - 10x° + 37x2- 60x + 36

2x 5
08. (a) Solve the equation 2—\:.’—%- P i‘%
(b) Construct the APQR and draw its altitude, mPQ = Gom mQR = 4.5cm and mPR = 5.5¢m

09. Prove that any point equidistant from the end points of a line segment is on the right-bisetion it
Prove that Triangles on the same base and of the same (.., equamgglqde | I area.
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